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[Def] {an} bn =a ;- ; C, = bn+1 - bn
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[
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[y =x"+ax*+bx+c
y'=3x*+2ax+b

<y y
< D/4=a’-3b>0
< VX y'>0 y'
< D/4=a*-3b<0
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[Def.] ( ) y sin 6 :003(9—%)
[ ]
SIN pee [ I Z_o
y A \/5
( ) (1,tan9) 0O % f?l /
P(cosd,sin 0)| y = cdsx \& -
/ 0 _ | N 2
e »>x  OP =(cosé,sin 6) OP =k(cosé,sin 6) k >0
[ ] P . P 1,0)
xeR X,y COS X, Sin X OP tan x \
def —
[Def.] f(X) P v fx+p)=~fx) &\
. . b 1 27 P
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k| k] —
f (x) = atan(kx +b) +c =atank(x +E) +C i180° (i)
k |k | |k |
[ ] :
_/
cos(8 +90°) = —sin 4 ,sin @ = cos(€ — 90°) = cos(90° — ) [ 1] g
[Th.] [ 1
[ 1]
sin(a + ) = sin acos B + cosasin \/
sin(a — ) = sin e cos 8 —cosasin 8 L1
cos(a + ) = cosa cos B —sinasin S [ ]
cos(a — ) = cosacos B +sinasin g
tana +tan g
tan(a+ f) =———
@+ /) 1-tanatan g : ——
tana — tan 8 [ ] é@
tan(a - ) =——— _ tand =t
(@=F) 1+ tanatan g m = tan & 1_t2
0 X cos 20 = ——
1+t°
_ _ sin 26 = 2t 5
Sin 2 = 2sin « cos o {:Ztanogcoszog:Ztana—2 1+t
l+tan
2
cos 2a = cos’a —sin’a = 2cos’a 1 =1-2sin’a {=@-tan’a)cos’a = H‘#
l1+tan“«
fan 2g — 2tan o [ ]
N ca =Nty 0 =18° 50 =90°  sin 20 = cos30
[ 11 1

sin3a =3sina —4sin*a cos3a = 4c0s @ —3cosa

[ ]

[ 1N cosn@ +isinnd = (cosO +isin H)"
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szg l1-cosa COSZK _1+cosa tanzﬁ _1-cosa
2 2 2 2 2 1+cosa
[ 1 0 20

[ 1 I

_ sin x 1 sin X, Cos X, tan X
cos’x+sin“x=1 tanx="—- 1+tan’x=
CosX cos™ X sin X + COS X
(sin x +cosx)* =1+ 2sin XCOS X sin X — COS X
. . : in X Cos X
(sin X+ cos x)® = (sin X — cos x)? + 4 sin XCos X SIN XCOS

[ 10 /

asin@+bcosd =a? +b? Sin@+a) =+a? +b? cos@+a-90°) ab 6

A
a—> b @b
COSax =——— Sina =
a’+b’ va® +b® /é 5
( N N
o —/3sind=—/3sind+cof=2sin@+150)  =2cos@+60) [ 1 SN, €os
1 sin
sin wt — cos wt = /2 sin(wt —%ﬂ')
. Sin c0s Sin
[ 1] P(cos®,sin ) A(L—/3) Cos
OP-OA =c0s0 —+/3sin 6 = 2-1-cos(6 + 60°) acos&+bsm9®\$
. =~a’ +b? cos(d
[ ]J' sin“ xdx Cos
\
F (sin® 0,cos’ 0,sin 6 cosH) [ 26 1 -sin@,cosd
smzezﬁ, coszezw, sianosezésin 20 -
Asin X +B
asin20+bcos20 +c =+a* +b*sin(20 +a) +c =+a* +b? sin2(¢9+%)+c
= L ]
sin A+ sin B = 2sin 2 2 B cos A; B sin(a + B) +sin(a — 8) = 2sin a cos f
sin A—sin B = 2cos AJZF B sin A; B sin(a + B) —sin(a — B) = 2cosasin S
cos A+ cos B = 2cos A; B cos A; B cos(a + B) +cos(a — ) = 2cosa cos B
cos A—cos B = —2sin A; B sin A; B cos(a + B) —cos(a — ) =-2sin asin S
sin(a + ) =sin ¢ cos S + cosasin S ]
sin(a — B) =sina cos S —cosasin S cos il
sin(a + B) +sin(a — B) = 2sin acos B
Djsm xdx , [sin® xdx  [sin 3xcos xdx
A+B+C =180 ,sin A+sinB +sinC = 4cosécosEcosE

COSA+COSB+COC  4sin Asin Bsin © 11, tanA+tanB+tanC  tan AtanBtanC [ ]
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1 3
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a®=1 neN a=0 a’”difi a>0 a%dif a PaeR
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I 275 _ (_5): (@) (ab)
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[ ] Y =alog X +b
[Def.] log, N [ ] .
azla>0N>0 [] 8=2°<3=lo0g,8 -
N=a’< p=log, N 2-3f8 )
Taro loves Hanako.<= Hanako is loved by Taro.
L ]
log, X azla>0 x>0 [ 1 logX +logY log XY
2 X>0AY>0 XY>0
IogaX=IogCX C¢1,C>0 log , x — X
log, a a """ =X < log,x=log,x log,a” = X
—_—
[ ] 10
log,, 5 =109, —=1-log,, 2
[ 1 log,b=log.b*> [] log,3=log,9 2
M>0AN>0 2log, x =log, (x +2)
M | 1og. x2 =1 2)
log, M +log, N =log, MN log, M —log, N :Iogaﬁ 0g, X" =log, (x+
log,M? = plog,M[  Ty=log,x* y=2log, x log, T(x) =log, g(x)
0<a<l | | ;EX;>8 { f09>0
<a< 0 <lo S p> - X)>0 <
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l<a log, p<log, g p<q 10
[ D] 3 -
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y=f(x . .
[] t=sinx,t=sinx—cosx,t=2"+2",t=log,(x* +1) , t =X+ X ,t = x + —

. X
t X [ 1t
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[ 1
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-

I X
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0<x<2x a
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a
_ 2
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9a T =09 X.>0
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kx—6 = (x-3)° )
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